CLASS : 12th (Sr. Secondary) Code No. 5632
Series : SS-April/2021
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(Only for Fresh/Re-appear Candidates)
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1. I fou g7 feasut yist € sta €°39 g<a9 =4 : 1x5=5
(i) fez= fE9 fdat goni At ?
(€) nfc IA9 357 (M) e IAT B
(8) HI IA9 3BT (7) dF 9A9 39
(ii) =& Sfown & fam I = sur 3T A ?
(€) wmghi = (»f) <aw =T
(g) ot er (m) fee e
(iii) ‘¥ SF-Itz’ fsdu &t &=t fag faat I7?
() vzt (o) dedt daAret
(g) wmmet (7)  Uggrat
(iv) ‘seedt goet fan &t ggaT I7
(€) Tt S9 ffw () . y3& fiwr
(g) @as fAw (M) W 995 fAw mate
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(2) 5632/(Set : B)

(v) ‘S<9N J@ UBAT JjE € Bud dE IS 7

(€) gt <iv fiw (o) 4. Afog fAw
(g) foprat famrs fAw () fomrst fég fiw
2. I fou g7 feamut yist € sta €°37 g<a9 =4 : 1x5=5
(i) ‘AT FaSY sTed T Iy d< I?
(€) =<3 argait () 3. J999s fAw
(g) =Yg fiw e (W) HoAl3 mot
(ii) ‘A9 HI3 Feq ff9 % fda u3g 957
(®) 13 (m) 15
() 17 (m) 19
(iii) area = ufgsT &e fam 33 &9 Tuger 37
(&) U= (») e s
(8) w9933 () <oy 33
(iv) #eT d=® < ot saet J7?
(®) wm () F=T
(g) u3st (A) WF
(v) ‘onm At ‘fenzdt AAg & B9 <t € 3 oSt St feg mue faw & 99 957
(8) <= fers Jue () =dIS
() w3tm (7) o<
3. Jo fau gy feasut yust € sta €37 g<a9 fou : 1x5=5
(i) 3T WSH & 9793 Aaad <8 fauaT AenTs fear faprr?
(€) uev fegne () uew At
(¥) 993 I35 (A) USH gHS
(i) ‘fa= grg’ € afesr e s ugt &t 7
(€) fagor () Quew
(g) yaSt=ret (7) det =t &dt
(iii) ‘FAs fw & wfog € fan g9 f&e yfidt yug aist?
(€) afezr () FeF
(g8) dut (F) =9sd
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(iv) dardt f&e faat aoet & vat 3asia ngna fan & efenr?

() qrewun fiw () =g fiw fega
(g) W3 fiw AE () w3 &9
(v) ‘fan & U3’ W3 ‘HoW TS »iy’ Jyr 939 fam @ fou a57?
(8) et /. der (v)  ylaw fiw
(€) WIAIZ At (7) =B<I Jrgait
4. I fou g7 feamut yist € sta €°37 g<a9 =4 : 1x5=5
(i) Ju<t I afesr i< At e &3 fad fagr At ?
(8) wsT () forst =99
(g) we (7) T=T Fgar
(ii) o<t faoz Fies & Har gger J7?
(€) g=r T Tgar (W) Ut & F9ar
(€) wiar € Fgar () Jwsat =gar
(iii) ‘ot afesr fT fam <t =fswet aist aet a7
(€) a<t <t () TIH &
(z) fewsat & (A7) U® <t
(iv) ‘fead & 3= afe v gu af J7?
(&) gt (M) W
(T) IS (m) aiz
(v) ‘fostut e d9v afesr ffg foghdt fan e ySia J7
(€) wger e (m) dfemr &r
(8) #&<d & (M) g3t &
gar -
5. I fou yast € €39 fa mge 7 fa oo <9 ey - 1x5=5

(8) <=9 J9ee v I3 fan &7 &% e /t?

(») ¥ SHfewH & I T &t Hfarrr HE?

(g) wa g It Fferrst 8y e 8uyq d= J?

(7)  Hw Arone 3y 9 3ua guus § fag fagr Suer 37
(T) W g v T # = ufosT st &t A?
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6. I fou yast € €37 fa mge a fid e f<v fay - 1x5=5
(8) Fer FaSt aeq g fensdt €t faost féer gqus Jet 97
(v) I &< fan 93 f&9 Tyger 97
(8) #I™ wg = f3nwrar gae a8 g&t Atet I7?
() onw "9 § faw 3q° queT Ider At?
(7) #e9T &t §g vt & I?
7. I5 fou yast € €39 fa mge a g e f<v oy - 1x5=5
(€8) »ufsa afesr & Het a<t ds I7?
(7)) . y3s fw & fout damet s93d yAsa e &F &t 97
(g) yadt &9 rg 3 U Juehdt fana fafamr?
(A) omel. W deT e ygT & En |
(T) M3 A € A&H g gfemr?
8. I fou yast € €37 fa mge 7 g o f<v fay - 1x5=5
(€8) ‘T Few afesT fam &t gusr 97
(v) feergs amn fdg Afez 97
(g) dfswst &g fag ot I7
(7) ‘3t &t €’ afesr f&9 ofea fag afder g7
() wIezx & ot du fa@ fagr fapur I?
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